FHBESAI0BRRATARSIATVS, B, RERDEEZGRFIEFELINEL, MFDOERBY—ERICRYFEEDT=,

FLERFEFEOYS

FHRFEBFODEFIUTDEEYTHS,

THI3E3IA16H
I B2 R IR 53 4 JE AR AL R

(1)
(2)
(3)

(4)
(5)

SH2E12ADEKEEIEHR (CI—BEEH) L. TIFIEFYERLTILNS,
SH2E12A DT EERER) . 20 ASNYIZHETAZ EE-T-,
BAEEDSL, SF3E1 B ORE/NEIEREEEL., 4 A EGELTRIER A% LE>T=,

SH3FE1BDOHERTEHIL. 4m B
SH3FE1BDEEEYMIEE D

4> AN
vﬁ\I:l

EHELTRIER A% EE>T-,
X, 18 B EHETHTER AE TE>T=,

FIBEIADEMRAERIINASYICERL, HHERAEREIIMAERLTLERL=,

(1) FXEAFEHR (CI—BIEH)

(ERR274E=100)

(%)

110
105 A
e~ _
100 | \I/ “"‘v‘/‘/\\l-w e \A
o | \,\/\
90 A1
85 1 — 84.0
80 1 [ - 3/ A% BB 83.4
75 [l - TN A BB ENEY) 80, 1
70
1]2]3]4]5]6|7]s]o]toiilizl1]2]3]4]5]6|7]s]atotiliz 1]2]3]4]5]6]7]8]oltoti1z) 1]2]3]4]5]6]7]8]atofi1]12
H29 H30 H31/R7T R2
VAR I B R S S B
(2)&E . s =
SETEERE(AE) (KR R) FTEEBAERHIRER)
CRIETFAHE T | FRL2T47=100) (G | FRL2TH=100)
115 260
------- SRR T
110 A 24079 ek T
220 A ————Et
105 A B 7T AFy) T3
100 R N\ U e (b2 T 3%
_/ ~7Y V 180 A
95 1 160
90 A 140 A
R2.12H 120 A
85 1 94.9
100
80 A :
80 1
75 1 60 -
02 30 31 R 2 105 30 31 Ryt 2
(FF)
VAR I B IR T3P P 3 A I UL T3
ZEEARE T ek CPRR2T=100) ORI A H (%)
FEEFH R24ES H 9 A 10H 11H 12H
S5 T FEFE (A PE) 4.5 5.1 4.8 0.0 0.4
&R T3 A 0.1 6.7 3.4 2.3 A 3.0
Ftk T35 5.4 1.3 12.7 1.0 A 2.8
LA T35 A 3.8 7.6 12.8 A 0.5 1.7
TR T35 A 6.1 4.8 21.6 1.2 A 7.5
TS F Ak T3 25.5 A 0.8 5.1 A 0.6 A 3.4
£ e Al T S A 5.4 7.9 0.1 1.5 A 3.2
b5 T2 17.6 19. 8 A 0.9 A 12.8 24.5
TIAT B T ¥ 2.3 A 20 2.4 2.3 A 6.2




BENHEE

(HITAERLA HE : %)

R24E9 H 104 114 121 R3E1H
KIS R A (5 £ VR — S —<A>) A 22 7.1 1.4 5.2 4.9
B AR oE B4 (8 B A RS A 19.7 41.1 15.4 14. 2 17.3
B AR oE B (1 H &) ) A 18.0 21.7 4.5 10.4 11.4
pI ey Sl A 19.0 32.3 10.7 12.6 14.7
HEREEE T 4.9 A 8.9 0.1 A 5.5 1.8
(4) il CHEE MM R kB H)
R24E9 H 104 114 121 R34E1H
SR 100. 3 100.0 99.6 99.5 100. 1
A A k(%) A 0.1 A 0.3 A 0.5 A 0.1 0.7
AR H H (%) A 0.6 A 0.8 A 1.2 A 1.3 A 0.6
REUNSEEERSERED TS RN = B
(%) (B & A <2FE>) (%) FEBEEROBARER) s
% (A4 A A HEHEIReE) 80 GIKSE B
929 - — GBI R3E Gt | AR ST A 8 (8 B HZ RS
o /’E\Zﬁl—r R3MFELH 4 9/(3‘}&) 70 | A (B 2 )
------- 2 [E R3EL] ASSUGH) 60 SRt
14 A 50 A
10 A "I 40 -
6 1 A (S PN
2 1 N\ S Ap—e < I‘AA “ Af\ :"A A /w_ 20 A ," “\./I‘ “\‘ |
A2V YV V\‘!‘.v AN 10 m AV AV i\/‘ v
A 6 AR T 0 WAINY A YAV
' Voroou \/ \ ¥ v
A 10 1 l|I ; l"" A 10
A 141 v A 20
A 18 v A 30 -
A 22 A A 40 A
A 26 1 A 50 -
A 30 29 30 31 Ryt 2 A 60 29 30 31 Ryt 2 )
TRV PEEAR [ LT REH G A () AARBEFCEHRE A () REEABEHRES
_ T m— HEEM@OMUE (KEH)
=11 1= 0,
1(();()) PREEBEIFROBR(RER) <4/(>) EELA L)
I — R R:ﬁ*rﬁl)ﬁ A0.6%
1,400 1
| 01 R A RIELH  A0.5%
1,200 1 i 729
_ 809 - 742 R (BRGEEE) KO —%
858 1] 737 LAl o dl T M 2.0 A BR<faA R3EELA 0.8%
1,000 1" THL - N 1~ R
800 il i I 11 1.0 \ N
600 /_/\ \
0.0 /\/ \/ -\/\V N
400 \ f '
A 1.0 \y
200 4
0 A 20
29 30 31 Ryt 2 3 29 30 31 Ry 2 3
(4F) ()

[ azi@E TEE A L)
)AL OB FHaFoR

7N
e

B8 H B WAl E0)



(5)ER

(%)
3.8

3.6 1
3.4 A
3.2 1
3.0 A

~ o
4 N Pl AN g
\/—\/\6\\ TN

2.8
2.6
2.4

2.2 1
2.0 A
1.8 A1
1.6 A1
1.4 A
1.2 A1

1.0

0.8 A1

0.6

16,000

14,000 1

12,000 1

10,000

8,000 A

6,000 A

4,000

2,000 A

R24E9 H 104 114 124 R34E1H
BBLRAME = () 2.31 2.26 2.30 2.43 2.57
ARG (1) 1.22 1.23 1.25 1.25 1.37
N e IN-E 57.7 48.2 43.1 32.3 24.2
FERKERET NG (%) 1.8 1.6 1.6 1.6 —
Bl HG G0 G PE ! 30 AL EdesEpn) 3K 0.4 A 0.1 A 23 3.1 —
TR SE S B IRE IR (s 3 30 AL ERdEpT) O A 72 Al A 26 A 41 —
FITESS 5 18 RE R (it 30 AL i) 3% A 32.7 A 19.0 A 114 A 1.7 —
SITATAER A b (%)
AMRABELFRRAEEZDO#D — B S — R RIERA - AR E RO HTE (2 E)
(RN (Z/g> (BRI LERIE)
....... K A (o) S RAUS
—géﬂ%/\{%%(u& ) 30 1 o
- = == ARG (S2E) N R )

~s

-——"_’w

]

~ A
——m A S~
(LN
N

§-~---~
L

—_au--l_---
A 30 .
29 30 31 Roo 2 3@)‘40 29 30 31 R 2 3
A T AR Wk B R S~ %)
ERRIRZIEERABOHBE (IKER) o SELLERDER
o ()
T T T 80 60 ‘ ‘
—— ERpEEAR AR 1 CRIRER) (D)
o P Sl 0 BB H A
5.0 - I B B 7 AR HE
10 AELKRIFELAD 2.9%
L 45 -
--------- HHEKR2EE10-12 B> 2.5%
4.0 -
L 20 c— i ECR2AET0-12 1 1> 1.6%
35
Wlp-/\/\vM_\_’ w/ ™\ Lo 1.0 \/\i\
25 4 vl \/_\/_\/_ T
s L A 20 :
L A 40 15 - ﬂ\-‘ _/_/_\—
o ,_/"_\_
L A 60
0.5
29 30 31 Rt 2 A 80 00 o5 30 31 R 2 3
(4F)

e B 55 ) T 55~ R 7 A |

KeBs A I8 ) )
) SRl U - e ] U+ SRR - = AU



